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ross-cut profiles and residuals

Y=417 (dx=-3.3e-01, do=3.1e-01)

visit=97036 arm=b spectrograph=1

f=21, X=3903.3

Y=835 (dx=nan, do=nan)

—Residual*s
- Trace

T T
pfsArm pfsArm

I — (x=3907.03, 0=1.27) I s (x=nan, o=nan)

1 calExp ] calExp

1 = (x=3906.70, 0=1.58) 1 === (x=nan, o=nan)

—Residual®s

Y=1252 (dx=nan, do=nan)

Y=1670 (dx=-2.9e-02, do=1.6e-02)

pfsArm
=== (x=nan, g=nan)

(x=nan, o=nan)

I
I calExp
I

—Residual*s

Y=2088 (dx=8.0e-03, do=1.2e-02)

pfsArm
= (x=3900.70, 0=1.25)

calExp
[ (x=3900.67, 0=1.26)

m— Residual*s

pfsArm

= (x=3900.11, 0=1.24)
calExp

= (x=3900.11, 0=1.25)

m— Residual*s

- Trace

Y=2505 (dx=-1.2e-03, do=-2.0e-02)

Y=3340 (dx=nan, do=nan)

pfsArm

= (x=3900.16, 0=124)
calExp

= (x=3900.16, 0=122)

m— Residual*s

- Trace

T
1 pfsArm 1 pfsArm

= (x=nan, o=nan) = (x=nan, o=nan)
1 calExp 1 calExp
1 == (x=nan, o=nan) | == (x=nan, g=nan)

—Residual*s
- Trace

m—Residual*s
- Trace

Y=3758 (dx=-8.7e-02, do=2.2e-01)

H pfsArm
I === (x=3905.74, 0=1.23)
I
I

calExp
= (x=3905.65, 0=1.45)

— Residual*s




dX map (b1

fiberiD

600

500

400

300

200

100

0.100

0.075

0.050

0.025

r0.000

F-0.025

-0.050

-0.075

-0.100




o/oc map
b1

fiberlD

600

500

400

300 4

200

100 4

DORORRQRgRRR oo sesseses
T
i
HHn
T
T
T e
L
e
HI

WL

NINRENEARNEOreroneatese
[
[T
T
W

[T

Il

i

.

Average of dsigma/sigma from extractionQA

0.100

0.050

0.025

I 0.000

-0.025

-0.050

-0.075

-0.100



b3
chi’'srms

for each
fiber

fiberlD

fiberlD

1900

1800 1

1700

1600

1500

1400

1300

edr2-20231203, b3, chiStd

| i
:
i
i
1} 1
111
i i
LI ] " i
| | { i
J’ 1}
i
wonoa
" i
"
i |
H |
i
|
A AN
L}
HiH HH
"
L. 1
|
i !
1] |
i
i
|
Hitt
i
"
| "
|
i m
|
] 1 i
|
I 1
! i
] i!
oy
H e
W i H
l} i
' ..... |
HH 1]

(1!

i
il

(I

HTTHTT

(i

i

I
T

.........

|

e
I i
[
U ]

I
A Iif
HI ifff
LTI Hui
T
i i




edr2-20231203, b3, chiStd

| | | 1] 1"
| i |
| 1 H
| | | 1] il i
i i 1l | :
HE H i
il i | | |
] L i i |
| 1] 1 | i
i i ] am
" i
L i |
|
|

1
I I x!:
itk il !
18001 Ht ! m
I I
mhu

||||||||||||||||||||

! |
, i :
i T It | L L e s
., 11 R
e A A S, -
i
i

| IIH T QHI | | , i
Q . ' Tt i ’
E é i | ] ]
O 1600 T I MmN .
] .! | i | o" I
Two fibers 1373 and 1415 i il | | il e |
have la rge Chl Values = I | I "Af! ; .: il Il
) .. M T |
in many visits. L i i l
1 |: i i

!
! ,
r— - — i |

e E—

1300

i ] Woon




4000

3500

3000

2500

pix)

< 2000

1500

1000

500

calexp

3600 3610

FiberlD=1373

Residual

- 3000 A

2500

2000 |

1500 |

1000 |

500

3600 3610

X (pix)

visit=83147 arm=b spectrograph=3
f=1373, X=3607.4

w 300

- 200

- 100

—300
—-400

Chi

URE

3600 3610

Chi

Chi at each row

Peak center diff.

0.00
dx

0.05

Width diff.

0.00

4000

3500

3000

2500

2000

1500

1000

500



FiberlD=1373

Y=417 (dx=6.4e-03, do=-2.9e-01)

L]
pfsArm
1 — (x=3604.75, 0=123)

calExp
= (x=3604.76, 0=0.94)
— Residual®s
- Trace

Y=1670 (dx=nan, do=nan)

T
pfsArm
I === (x=nan, o=nan)

calExp
(x=nan, g=nan)

— Residual*s
== Trace

- = =
I
1

Y=2923 (dx=nan, do=nan)

pfsArm
=== (x=nan, o=nan)

calExp
== (x=nan, o=nan)

T
I
I
I
w— Residual*s
== Trace

visit=83147 arm=b spectrograph=3

f=1373, X=3607.4

Y=835 (dx=nan, do=nan)

pfsArm
B m—(x=nan, o=nan)

™1 calExp
=== {x=nan, o=nan)

-i w— Residual*5
= Trace

Y=1252 (dx=nan, do=nan)

Y=2088 (dx=

nan, do=nan)

pfsArm
=== (x=nan, o=nan)

calExp
=== (x=nan, o=nan)
m— Residual®s
- Trace

T

T
pfsArm
{x=nan, o=nan)

calExp
(x=nan, o=nan)

— Residual*s
w—  Trace

L|

T T

Y=3340 (dx=

T T

nan, do=nan)

1 1
Y=2505 (dx=nan, do=nan)
pfsArm
= (x=nan, o=nan)
calExp

{x=nan, o=nan)
w— Residual*s
== Trace

pfsarm
=== {x=nan, o=nan)

calExp
=== {x=nan, o=nan)
e Residual*S
= Trace

i

|

pfsarm
=== {x=nan, o=nan)

calExp
== (x=nan, o=nan)

e Residual*s
w— Trace

[




FiberlD=1415

4000

3500

3000

2500

pix)

< 2000

1500

1000

500

3340 3350

1000

500

Residual

g 0il

unl

&5

3340 3350
X (pix)

visit=83147 arm=b spectrograph=3
f=1415, X=3347.0

- 150

- 100

- 50

—-150

-260

3340 3350

-2.5
Chi at each row

0.0

Peak center diff.

—-0.05 0.00 0.05
dx

Width diff.

-0.05 0.00 0.05
do/o

4000

3500

3000

2500

2000

1500

1000

500

0



FiberlD=1415

Y=417 (dx=nan, do=nan)

f=1415, X=3347.0

visit=83147 arm=Db spectrograph=3

Y=835 (dx=nan, do=nan)

Y=1252 (dx=nan, do=n

an)

F
|1

I = p—— " E—

r [

(= plsarm
= (x=nan, o=nan)

calExp
= (x=nan, g=nan)

w— Residual*s
- Trace

.

pfsArm
= [x=nan, o=nan)

calExp
—(x=nan, g=nan)
w— Residual*s
- Trace

| |

pfsdrm
= {x=nan, g=nan}
calExp
f—(x=nan, g=nan}

Y=1670 (dx=nan, do=nan)

Y=2088 (dx=nan, do=nan)

:

pfsArm
= (x=nan, o=nan)
calExp
S (x=nan, g=nan)
— Residual®s
- Trace

: — Residual*S
—_ - Trace
— - ’- —— — - — -
Ll T T
Y=2505 (dx=nan, do=nan)
pfsArm
f—(x=nan, g=nan}

calExp

[ {x=nan, g=nan}
— RESIIUAIS
- Trace

Y=2923 (dx=nan, do=nan)

plsarm
(x=nan, o=nan)
CcalExp

—(x=nan, o=nan)

— Rosidual*s

== Trace

T
pfsArm
I = [x=nan, o=nan)
I calExp
W (x=nan, o=nan)
— Rosidual*s
- Trace
—
= |
- —— - —— -
I ! ]
plsArm
—(xw=nan, ownan)
CalExp
S (x=nan, o=nan)
— Rasidual*s
- Trace
— -

pfsArm
—(x=nan, g=nan}

calExp
[ (x=nan, g=nan}

— Rosidualts

- Trace

i




b3

fiberlD

edr2-20231203, b3, chiStd

0000000

-----------

1700

000000
|

00000

1400

I

i




Quartz)

97036

1SI

Chi map forV

97036 bl

3500

3000

1000

3500
3000
2500
2000
1500
1000

500



images

Offset between model and calExp

97036 b3 (Quartz)

—
(7p]
S
3 E 5 2
o 0 o 0 o
o ~ n N S oS e Q .
! < < Q Q =} o o o
o o o o o | | |
1 1 1 1 1
$as02ne208s 90935555588 4RRMRISIREN2 0505
!
dagith i ,-,.”,,n;,,m,w § AR ey
Q.
- :
x
©
n—....1
HIR
-“- 3 &
&
-- ,..
T m :
..... _n _—‘ - _
_— ~ —_r: HHH
il i
T T T T
o o o o o
=) =) o =)
o N o n
™M ~N N —
(xid) A

1000 1500 2000 2500 3000 3500 4000

500

X (pix)



Width difference between model and calExp images

0.100
4000 A

Visit=97036 b3 (Quartz)

0.075
3500 4

H| ~l!l§i?=l
Rt
Eeipesiineasty

HIH

- 0.050
3000 4

Fibers with especially large
.05 Fesiduals have large width
differences.

THH T

| T

ol ';umln
HRHHH R i

2500 A

x
g - 0.000
> 2000 A
r—0.025
1500 A
oo | T - —0.050
o0 ] -0.075
. SRR i P 0 P e Pl -0.100
0 3000 3500 4000




Cross-cut profiles and residuals
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